1.Make table
100

1 101/SUM({B1:C1)
500 5 505|SUM(B2:C2)
300 3 303|SUM{B3:C3)
400 4 404|SUM(B4:C4)
200 2 202|SUM(B5:C5)
a00 a 808|SUM(BE:CB)
600 ] B0B|SUM(BT:CT)
900 9 909|SUM(BB:CB8)
T00 7 707|SUM(B9:C9)
2.Sort all cells by column A
A B C D
100 1 101|SUM(B1:C1)
200 2 505/SUM(B5:C5)
300 3 303SUM(B3:C3)
400 4 404{SUM{B4:C4)
500 5 202|SUM(B2:C2)
600 6 TO7T|ISUM(BT:CT)
T00 7 909/SUM(B9:C9)
a00 g B606|SUM(BE:CE)
900 9 808[SUM(BB:C8)
3.Ctrl - Z
100 1 101/SUM{B1:C1)
500 5 202|SUM(B2:C2)
300 3 303[SUM(B3:C3)
400 4 404[SUM{B4:C4)
200 2 505/SUM(B5:C5)
a00 a8 606|SUM(BE:CE)
600 G TO07|ISUM(BT:CT)
900 9 808[SUM(BB:C8)
T00 7 909/SUM(B9:C9)
c2 | & 2 E [=sum(a2B2)
A | B | D
1 o0 1 UM(B1:C1)
: 500 20dsimBz:c2)
T SOU 3 303[SUM(B3:C3)
A 400 4 404{SUM(B4:C4)
5 | 200 2 505[SUM(B5:C5)
6 | 800 8 606|SUM(B6:C6)
7| 600 6 707|SUM(BT:CT)
8 | 900 9 808|SUM(BB:CB)
_9 | 700 7 909|SUM(B9:C9)
4.Ctrl - Y
100 1 101)SUM(B1:C1)
200 2 505|SUM(B5:C5)
300 3 303|SUM(B3:C3)
400 4 A404|SUM(B4:C4)
500 5 202|SUM(B2:C2)
600 ] FO7|ISUM(BT:CT)
T00 7 909|SUM(B9:C9)
200 a3 606|SUM(BE:CB)
900 9 808{SUM(BB:C8)

Cell A, B, D are sorted.

But cell C is not.

Inconsistency of history

Incorrect result of the formula
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